
STYKLISTE
Side 1

MODEL 4604D

Pos. Art.nr. Betegnelse Stk. Note

001 266230-5 SKRUE M8 (4604D)   1
002 153396-9 KNIVHOLDER KPL. (4604DW)   1
003 A-86670 OVERKNIV (4604DW)   1
004 A-86664 UNDERKNIV (4604DW)   1
005 941201-0 SKIVE 8   1
006 252128-2 6KANT-MØTRIK M8-FIN (4603D)   1
007 226394-7 TANDHJUL 9 4604D   1
008 256014-9 STIFT 3 (4604DW)   1
009 317231-7 GEARHUS 4604D   1
010 211051-0 KUGLELEJE 609LLB   1
011 226785-2 KRONHJUL 45 (4604D)   1
012 216416-1 RULLELEJE 2542 4604D   1
013 216207-0 SKIVE 2542 4604DW   1
014 416961-8 BESKYTTELSESHYLSTER   1
015 183142-6 HUS   1

INC. 41
016 266273-7 INV.SEKSKANTSKRUE M4X12 (4604)   2
017 911028-2 SKRUE M3x16   4
018 638855-9 ANSCHLUSSBUCHSE   1
019 416967-6 AFBRYDERARM 4604D   1
020 256176-3 STIFT 2.5 4604D   1
021 231473-8 TRYKFJEDER 4   1
022 416966-8 STARTSPÆRRE 4604D   1
023 233075-6 TRYKFJEDER 6 4604D   1
024 631365-5 ELEKTRONIK (4604D)   1
025 911002-0 SKRUE M3x6 4604D   1
026 226784-4 TANDHJUL 13 (4604D)   1
027 211012-0 KUGLELEJE 606ZZ   1
028 211012-0 KUGLELEJE 606ZZ   1
029 267198-8 SKIVE 14 4604D   1
030 226392-1 HULHJUL 44 (4604D)   1
031 911002-0 SKRUE M3x6 4604D   4
032 265954-0 SKRUE PT3x8 4604D   2
033 151718-7 PLANETHJULSHOLDER 4604D   1
034 226386-6 PLANETHJUL 14 (4604D)   5
035 153269-6 SOLHJUL 16 4604D   1
036 226386-6 PLANETHJUL 14 (4604D)   3
037 267198-8 SKIVE 14 4604D   1
038 265078-2 SKRUE M2,5x12 4604D   2
039 416968-4 RING 4604D   1
040 629742-3 MOTOR 24V (4604D)   1
041 183142-6 HUS   1

INC. 15
042 851738-8 TYPESKILT (4604D)   1
043 911018-5 SKRUE M3x12 4604D   4
044 266273-7 INV.SEKSKANTSKRUE M4X12 (4604)   2
A01 783201-2 6-KANT NØGLE SW3   1
A02 410048-8 NØGLEHOLDER 3,4 (JN1600)   1
A03 782212-4 TOPNØGLE SW13   1
A04 166062-9 ARMBÅND (4604D)   1
A05 166055-6 AKKU-BÆLTETASKE (4604DW)   1
A06 168356-8 SUSPENDER   1
A07 168542-1 COLTTASCHE   1
A08 182470-6 OIL SUPPLY   1
A09 416977-3 BESKYTTELSES KAPPE 4604DW   1
A10 630654-5 ELEKTRONIKEINHEIT   1
A11 193001-6 AKKU 4600 24V   1
A12 661978-8 KABEL 4604DW   1
A13 A-86670 OVERKNIV (4604DW)   1
A14 824556-7 TRANSPORTKUFFERT (4604DW)   1
B01 ***DC4600 DC4600 BATTERY CHARGER   1



EKSPLOSIONSTEGNING
Side 1

MODEL 4604D


